G2-M7-Lesson 22

1. FEach unit length o

32

Show 60 feet more than 80 feet on the number line.

n both number lines is 20 feet. (Note: The number lines are not drawn to scale.)

a.
80 140
i g g g ! i i |-can show 60 more feet on the
i : ¥ i 3 1 number line by labeling the
endpoint on the teft 80 and then
counting on 20, 40, 60. itisthe
same as adding 80 + 60.
b. Write an addition sentence to match the number line.
B0+ 60 = 140
c.  Show BO feet less than 125 feet on the number line.
45 125
| i A i ! | start by labeling the endpoint on
! ! i J i the right. Then | count down by
2(0s 4 times since it's 80 feet less.
Each time, | touch a hash mark on
the number {ine.
d. Write a subtraction senterice to match the number line.

125 — 80 =45

Lesson 22: Represent two-digit sums and differences snvolving length by using the
ruler as & number line,
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2. Santiago’s meter strip got cut off at 49 centimeters. To measure the length of his eraser, he writes
“54 cm — 49 cm.” Shirley says it's easier to move the eraser over 1 centimeter. What will Shirley's
subtraction sentence be? Explain why she is correct.

Santiago’s ldea i e—g

wahen
EEglen
S

49 ¢m 54 ¢cm

{ remember this
strategy. it's calied

compensation!
I
Shirley’s Idea T B T U T R T T T
I I SN (N N DR I M NS St B M e ma meny wune s sy s oo

49 cm S54cm

B

Shiriey’s subtroction sentence is 55 — 50 = 5. $he knows she can move the eraser on the number fine,
and the length will stay the same. By moving it one unit to the right, she mokes on sosier probiem 1o
: ': soive. 54 — 49 aiso equols 5, but it’s easier to subtract o friendiy number fike 50 becouse she only hos
- to subtract the tens,

EUMK & Lesson 22: Represent two-digit sums and differences involving ferigth by using the 33

MﬁTH” ruler as a nhumber line.
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